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QUESTION 1

You create a new CIFS data LIF with the default failover group. 

In this scenario, where will the new LIF failover if the node that owns the new LIF panics? 

A. to any port in the cluster that is administratively up 

B. to any port in the cluster that is operationally up 

C. to any available port in the same subnet 

D. to any available port listed in the broadcast domain 

Correct Answer: D 

 

QUESTION 2

Which NetApp tool should you use to set up an ONTAP 9.5 cluster? 

A. Config Advisor 

B. System Setup 

C. SANtricity Storage Manager 

D. OnCommand System Manager 

Correct Answer: A 

Reference: http://www.admin-sys.com/IMG/pdf/Config_Advisor_32_Installation_and_Administration_Guide.pdf 

 

QUESTION 3

What is the main function of ACP? 

A. It allows cabling the shelf to two additional controllers. 

B. It allows the controller to use Ethernet instead of SAS to fetch the storage data. 

C. It allows the controller to nondisruptively reset the SAS expanders. 

D. It enables the automatic shelf ID assignment. 

Correct Answer: B 

 

QUESTION 4

You are adding two new nodes to an existing switchless 2-node cluster. 
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In this scenario, which two statements are true? (Choose two.) 

A. You must make sure that the existing nodes are healthy and that all cluster links are up. 

B. You need to schedule downtime to add these two nodes. 

C. The existing cluster must use clustered Data ONTAP 8.1 or later software. 

D. You first need to install the cluster interconnect switches to the existing cluster. 

Correct Answer: AD 

 

QUESTION 5

Select the Exhibit tab. 

The exhibit illustrates the network cabling of a 4-node HA cluster that includes four separate networks. Which two
definitions are correct in this scenario? (Choose two.) 

A. Each node must be connected to five distinct networks. 

B. A cluster can be created without data network connections, but it must include a cluster interconnect connection. 

C. Each node may be connected to the management and cluster networks only. 

D. A cluster cannot be created without data network connections, but it must include a cluster interconnect connection. 

Correct Answer: BD 
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